INFINITE GEOMETRIC SERIES

1 Evaluate the following: (a) 8-4+2—... (b) 4+3+2 +.
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5 The sum of the first four terms of a geometric series is 30 and the sum of the infinite series is 32. Find the first

three terms.
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+ ... For what values of a does this infinite series have a sum?
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9 Find the fractional equivalent of: (a) 2.38 (b) 4.62 (c) 0.41717...
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11 Show that 1.2888. . is a rational number by expressing it in the form -';"’— where m and n are integers with no
common factor.
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14243+...4+10 _ ’\{
1.1 a1 -
l+2+4+'”+512 D

12 Evaluate

N= 1o (lI0+1) _ 55 ring | #2454 -t 1 = n(2n+')
2

NON(GLD: Hon M«amuwwgmuoé’/ﬂ‘M(

CULA (g VXV -\ /\a}\o (Z_—,> ) l

Q ;[l—(%)J _ "_,Bz‘[, :Z[IOZ.S],__IOZS

0= 1024 5
-1 L
N 55 ____KS'KS(Z_ :2_:;_4_61
~ 7 Tloz3 1023 93

S1L

Section 7 - Page 5 of 6



INFINITE GEOMETRIC SERIES

14 The Sierpinski triangle can be constructed by starting with an equilateral triangle, dividing it into four
congruent equilateral triangles and then removing the central one. The process is then repeated in each of the
remaining smaller triangles as shown in the diagram.

Let the initial triangle have an area of 1 square unit.

(@) How much of the original triangle remains shaded in the third diagram?
(b) How much of the original triangle remains shaded in the tenth diagram?

(c) Discuss what happens to the remaining area as the number of triangles increases.
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